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1. IRADER
#E AEEFEHENEETESE =2 BE
(DEEIA 74,080,000{ 76,280,000] -2,200,000
ESESEIA 70,000,000| 72,500,000 -2,500,000| @10,000M x 7,000\ (HBZEE 22 5)
EEY-ES 100N 1,800,000] 1,800,000 0| @30,000M x 60A (R A)
BEBRsESBIA 1,080,000] 1,080,000 0| @12,000M x 90 A (R #)
BEESEBIA 1,200,000 900,000 300,000 EmEENEE
(2) BIp IR A 5,100,000 5,600,000 -500,000
FHTEEATIFTEIEIRA 5,100,000] 5,600,000 -500,000] # &%
(3)FZEUIA 2,250,000] 2,250,000 0
ILERIRA 800,000 800,000 O|IREZA
BREBEIRA 1,100,000 1,100,000 O|giEm%E
AR A 350,000 350,000 OlmisEzcoxMs
(1) ZDRIRA 1,700,000 700,000 1,000,000
ZRFE 100,000 100,000 OlsiEEECOERBRUSH A
ZRESUEEEWEIRA 1,000,000 0 1,000,000|&EsR0FE
LERTHRISWEIRA 0 0 O|®T3EEL,
HUXA 600,000 600,000 OlsisEscoxM
LHJRASET 83,130,000| 84,830,000/ -1,700,000
RTERfEIN T =4 10,373,151 15,275,028] -4,901,877
N K & & 93,503,151| 100,105,028] -6,601,877
2. XHDE
[N AEEFEHENEETESE E=E BE
(EXE 65,840,000] 65,515,000 325,000
(O R 27,740,000] 27,740,000 0
FRIZE 15,000,000 15,000,000 0[250%5 M x 66l (AIEEER
wmEE 7,200,000| 7,200,000 0[1205m x 6/
wWETEL 500,000 500,000 0
HEE 5,040,000] 5,040,000 0[8475 M x 6
QUIEEXH 33,100,000] 32,275,000 825,000
FLRENRE 5,000,000{ 5,000,000 0|%850 (FRi24FE)
PLEERES 5,000,000/ 5,000,000 0|86 (FR25F )
S ERESFEMRE 1,000,000] 1,000,000 0|5 220 (FRi245EE)
*ERESFHEEES 1,000,000] 1,000,000 0|%230E (FR255%E)
B S XSAEMRE 200,000 200,000 O|EE21 B (FR245EE)
Rt s XsMEERE 200,000 200,000 0|5 22 (FR2545E)
MBI EH 3,600,000/ 3,600,000 O|E$E-ELEHI005. EXH AR EXERHRR0S
MmASBIBER N 11,200,000 10,875,000 325,000| (@1,500+@100f) x 7,000 A
E3-ES 2,800,000 2,300,000 500,000| #&.£E. EHE. SME. HE. EXEEGEER
ME= 3,100,000{ 3,100,000 0| 31 RS (UHEL105M)
QEEXRE 3,500,000] 3,000,000 500,000[ g1 EETHEBEACOHRBEL TD200FEDEE
@R—LR—CHRERE 1,500,000]  2,500,000] -1,000,000[#iEEETHEME
ORBEERVATLAERE 0] 1,000,000 -1,000,000(&ErEiFJSTREICLYBBREERL
(2)EHEE 22,010,100] 19,710,100] 2,300,000
DOEEE 5,050,000] 4,400,000 650,000
g 300,000 300,000 0
HEXE 3,000,000/ 3,500,000 -500,000 [#iEEETOEM
HEREE 1,000,000 0 1,000,000 (=& EFEERBDE
LERTE 0 0 PIEZ
SEWREE 500,000 500,000 0
WRE-XBEFE 250,000 100,000 150,000 BE#EEAHER
QEHKE 16,960,100 15,310,100 1,650,000
WEFLE 10,000,000] 5,200,000]  4,800,000(1. s Af&#I (£5t L. BB THMELEST)
EERAE 1,000,000 900,000 100,000 a4
S8 2,690,100 2,690,100 0|Z ekl
HBELEEE-£HNE 0| 2,500,000 -2,500,000|4 k&Y ERAFELL
BEE 1,000,000] 1,000,000 OlgiEEECOER
HERE 550,000 800,000 -250,000 |[giEEETOERE
HAROE 720,000 720,000 O|FEm23E B BB
HE 1,000,000 1,500,000 -500,000|siEEFTOEME
(3) Dz 360,000/ 2,120,000] -1,760,000
HEREF IS 0] 1,000,000] -1,000,000(Z% =M. HEERE
£ERITHILEXE 0| 1,000,000 -1,000,000|8tE=EIEDZL
BRI SHEIEXH 360,000 120,000 240,000
EXHEESTH 0 0 NEEES
(4) FiRE 2,000,000{  4,000,000] -2,000,000[#f7E8H 0 R ETILEHIEBNE
LHIRH AR 90,210,100] 91,345,100 -1,135,000
ELEF3 -7,080,100] -6,515,100 -565,000
REAREBINT Z5E 3,293,051] 8,759,928| -5,466,877
X B & i 93,503,151] 100,105,028] -6,601,877
X BARREZRE 0
B AE%E 0




